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PART A: Grammar and Vocabulary

Directions: Choose the word or phrase (1), (2), (3), or (4) that best completes each
sentence. Then mark the answer on your answer sheet.

My grandmother told us ----------- stories and we all enjoyed them very much.

1) amused 2) amusing 3) to amuse 4) to be amused

I was so tired in the class --------- my eyes open.

1) to keep 2) that I couldn't keep 3) that couldn't keep  4) to be able to keep
I don't know who sent these flowers to me: it ----------- Jane.

1) may be 2) should be 3) may have been 4) should have been
They made any --------- to find the solution to the problem.

1) endeavor 2) practice 3) instruction 4) situation

We are ---------- by religion from doing anything wrong.

1) disagreed 2) ashamed 3) emphasized 4) prevented

What is of ---=--=----- to me is that you are not getting enough work done.

1) concern 2) inaction 3) pressure 4) reference
Although he usually prefers to be alone, he --------- our invitation to stay the whole afternoon with
us.

1) offered 2) allowed 3) accepted 4) lowered

I am not ---------- to take any risks in my business.

1) possible 2) willing 3) necessary 4) frightening

As the pain in his leg was ---------- , he went to see a doctor.

1) previous 2) various 3) immediate 4) continuous
Don't forget to ---------- the cupboard when you go out.

1) pass on 2) turn on 3) lock up 4) pick up

PART B: Cloze Test

Directions: Read the following passage and decide which choice (1), (2), (3), or (4)

86-
87-
88-
89-
90-

best fits each space. Then mark the correct choice on your answer sheet.

The effects of global warming on the climate of different countries (86) ---------- regions are difficult
to assess. Although the whole temperature and (87) -------- of the Earth will increase, some regions will
have smaller rises in temperature (88) --------- others, and some regions may (89) --------- have less
rainfall. Much work is being done by scientists to (90) --------- by how much global warming will
continue and precisely what its climatic side-effects will be.

1) or 2) of 3)in 4) not

1) activity 2) pollution 3) quality 4) rainfall
1)in 2) than 3) for 4) from
1) recently 2) firmly 3) actually 4) exactly

1) enhance 2) support 3) solve 4) predict
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PART C: Reading Comprehension

Directions: Read the following two passages and answer the questions by choosing the
best choice (1), (2), (3), or (4). Then mark the correct choice on your answer sheet.

PASSAGE 1:

Cherrapunji is one of the wettest places on Earth. Cherrapunji is in India, high in the Khasi Hills.
There is a lot of rain in the hills and most of it falls in the summer. In 1974 there were 2,455
centimetres of rain in Cherrapunji. This was the highest annual rainfall ever recorded in one place.

Cherrapunji is a wonderful place to visit. There are lots of hills and valleys, so it is a great place to
hike. There are beautiful, high waterfalls and amazing views from the hills and cliffs. You can walk in
the lovely, green forests, explore some amazing, old caves or go fishing in the deep, blue rivers.

The rain in Cherrapunji usually falls at night. During the day it is often warm and sunny, but
remember to pack an umbrella. The weather can always change.

What does the writer think of Cherrapunji?

1) She thinks well of it.

2) She thinks it rains too much to go there.

3) She believes one should go there when the weather is warm and sunny.

4) She concludes that it is good for those interested in swimming and walking.
According to the passage, ------------

1) the year 1974 was in a way unusual in Cherrapunji

2) Cherrapunji always has the highest rainfall in the world each year

3) the amount of rain in one place in Cherrapunji in the year 1974 was unbelievable
4) the tourists visiting Cherrapunji are often surprised by the rainfalls there each year
The passage mentions all of the following as activities people can do in Cherrapunji EXCEPT ----
1) catch fish 2) watch natural scenes

3) watch animals in nature 4) enjoy walking in the forests
According to the passage, in Cherrapunji ------------- .

1) it always rains during the night

2) people can enjoy sunshine every day

3) people are not allowed to kill any type of animal

4) the rain falls in the summer more often than any time of the year

In the last sentence of the passage, the writer seems to be ---------- .

1) advertising something

2) giving a sort of warning

3) referring to a negative feature of Cherrapunji

4) introducing another interesting thing about Cherrapunji
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PASSAGE 2:

Socrates (c.470-399 BC) was one of the greatest Greek philosophers. Little is known about
Socrates' early life except that he served several times as a soldier and showed great bravery. He
was born in Athens when that city was the leader of the world in literature, art, and government.

Socrates knew all the most famous writers and statesmen of his time, but he had no desire to
be famous himself. He only wanted to show people how to live wisely and happily, and to
convince them that wisdom and honesty are more important than riches or fame. His guiding
rule was "know yourself".

The young men of Athens were eager to learn from him. Socrates did not write down his
teachings or invent any system of philosophy. Instead he talked with the young men wherever he
met them, and started them thinking for themselves about what is good in life. Some of these
young men later became writers and wrote down Socrates' ideas. The most important of his
followers was Plato. Plato's writings are Dialogues in which the main speaker is Socrates,
discussing some question with his young friends. Socrates would ask one of them to give an
opinion on a subject. Socrates would then ask him questions. Often the person questioned had
not really thought very deeply and had no good reason for his opinion. Then by more
questioning they all tried to find the true answer. This method of learning the truth by asking
questions has been named "Socratic" or "dialectic".

According to the passage, for some time in his life Socrates ---------- .

1) was a soldier 2) served soldiers in Athens

3) encouraged soldiers to be brave 4) taught philosophy to brave soldiers
According to the passage, Socrates ---------- .

1) tried to tell people how to live well

2) attempted to invent a system of philosophy

3) had his students write down his lessons

4) used writers' influence to become famous

All of the following are true about Plato EXCEPT that he ---------- .

1) was an important student of Socrates

2) helped a method of learning the truth develop

3) learned things from Socrates when he was a young man

4) wrote a book in which he used one of the speakers to attack the ideas of Socrates
The word ""him'' in line 15 refers to ----------- .

1) Socrates 2) Plato himself

3) a speaker in Plato's book 4) a student of Plato

It can be understood from the passage that Socrates was born at a time when --------- .
1) Greece was under the control of soldiers

2) Athens was in its best days

3) no one lived happily and wisely

4) his country needed more soldiers than artists





